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T=X, - Tig - @al - @l S B fir B I & &
ET = 1 17,338,000
BlltT = 1 336,000
BRLLT = 1 19,917
BEL m3 9 2,213 19,917
Bt T = 1 152,697
Et m3 69 2,213 152,697
fEELT T = 1 164,289
FEEI(L ) m3 69 2,381 164,289
IIEREET = 1 2,040,000
MNCETET = 1 1,716,349
RN CR (EL) =+ t8120cm m2 445 24,650 1,096,925
MEmsTR (GER) A 1@120cm m2 17.5 33,608 586,390
AEANT 5 =50cm*ME120cm m 2 16,517 33,034
KT = 1 324,098
FRAEKEEAR AR [DKERER] (1] 745%914mm m 35.8 8,691 311,137
AL KRB AR [DKkSZER] (U] 1184%914mm AT 1 12,961 12,961
g #kE T = 1 14,962,000
BT = 1 1,347,832
HmEH m2 1,324 1,018 1,347,832
L = 1 2,367,213
FLARFRA BEAMER FEMEH FEZHIOm m 185 5,763 1,066,155
AREREHA 2% AEHEWR EEEIOm m 495 26,284 1,301,068
RIT = 1 11,211,322
BEAEEHLSMAEEETYN | FAEMHERE L=90m m2 1,120.5 8,465 9,485,032
EAEEHILESEMAZHEEYIB [T/ L—ILEH L=80m m2 203.5 8,483 1,726,290
ISR E T = 1 35,771
B R R E A& 550%400%1Tmm = 1 35,771 35,771
RE& T = 1 2,505,000
RE&T = 1 2,505,000
TERERT = 1 1,695,225
TERERE(L) BEREEEAST, m3 158 3,842 607,036
TERABERKLT m3 131 771 101,001
T AL R = 1 887,188
T/ L—ILEFEEY = 1 910,707
T/ L—ILEFESY = 1 910,707
EEITEE = 1 19,843,000
HEREE = 1 2,651,640
HEBRZAEELIT D) = i 0
HBREE(EE L) = 1 2,395,992
BiSREREE(ERL) = 1 255,548
MTEE = 1 22,494 540
BisERE = 1 8,475,688
THEEZ DR EEE = i 0
TEEM = 1 30,970,228
— S EEESE = 1 6,029,000
TR R i 0
— B EIRELE = 1 6,029,000
SEAEM = i 0
T Em#& = 1 36,999,000
HERALEE = 1 3,699,900
FASE = 1 40,698,900




